2
4 | 702 %1 = 2 |121=

5 % 1000 = 53 000 6 ;——%z

? | 6=4200+ 8 |5x(12-9) =

: — 13 -
© |60+ =2X6 10 0 Xz

1 = 1.9 X 1000 12| &=

13 %of35 = 14 | 3002 — 1405 =
15 |5—-2X2= 16 | 3645 —9.788 + 2890 =
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_. sUmmer Test 2 (continued)

F@? %+—§*D 18 6498=:/><9

= J
19 73491—523+89=D 20(5[7428

U U,
21 7=D+832 22 (6+2)><22~_—D

O O

25 4! 8171 26 16]8448 2 marks) |
1 1 3657
2? _.4_ + _3% — 28 % 91 {2 marks)
' Total marks I3°j
How well did you do? + with correct place value | 16 | 19
Colour the numbers of the = with zeros 14
questions you got correct, £ or x by 10, 100 or 1000 517
. Long x and long + 26 | 28
+ with decimal remainders | 20 | 25
Fractions S 11wzl li7]2 27
Percentages of amounts 23 _
Missing numbers 21314 15{71918
Brackets and BIDMAS 8 11511619 (29
+ 31617 ]19]22]024 27
- 618 [12114]15]16]19
X 1 Blojwinlizis 211221231728
+ 214)52f{9lw{1]2023]25(2
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